ADDENDUM TO CARROLL'S DISCOUNT OFFICE FURNITURE CO.'S AGREEMENT

THIS ADDENDUM ("Addendum") is entered into by and between Fort Bend County, ("County"), a body corporate and politic under the laws of the State of Texas, and Carroll's Discount Office Furniture Co., ("Carroll's Furniture"), a company authorized to conduct business in the State of Texas (hereinafter each referred to as a "party" or collectively as the "parties").

(OMNIA PARTNERS CONTRACT TCPN# R191804)

WHEREAS, subject to the changes herein, the parties have executed and accepted Carroll's Furniture's Proposal (the "Agreement"), attached hereto as Exhibit "A" and incorporated fully by reference, for the purchase of specified furniture and associated products and installation services (collectively the "Services"); and

WHEREAS, County desires that Carroll's Furniture provide Services as will be more specifically described in this Agreement; and

WHEREAS, Carroll's Furniture represents that it is qualified and desires to perform such Services; and

WHEREAS, the parties wish to utilize Omnia Partners Contract TCPN # R191804, incorporated fully by reference, for the purchase of the Services; and

WHEREAS, the following changes are incorporated as if a part of the Agreement; and

NOW, THEREFORE, in consideration of the mutual covenants and conditions set forth below, the parties agree as follows:

AGREEMENT

- 1. **Recitals.** The recitals set forth above are incorporated herein by reference and made a part of this Agreement.
- 2. **Scope of Services.** Subject to this Addendum, Carroll's Furniture will render Services to County as described in Exhibit A; and in accordance with the requirements and specifications of Omnia Partners Contract TCPN# R191804.

Any Services to be performed by Contractor for County must be scheduled at least two weeks in advance with the County's Facilities Maintenance Department, or as mutually agreed by the parties. The County's Facilities Maintenance Department may be contacted between the hours of 8:00 a.m. and 5:00 p.m., excluding County holidays or other County closures, at (281) 238-3565 concerning the scheduling of any Services.

All performance of the Scope of Services by Carroll's Furniture including any changes in the Scope of Services and revision of work satisfactorily performed will be performed only when

approved in advance and authorized by County. When performing Services on–site at the County, Carroll's Furniture shall comply with, and ensure that all Carroll's Furniture Personnel comply with, all rules, regulations and policies of County that are communicated to Carroll's Furniture, such as security procedures, including the restriction of access by County to certain areas of its premises or systems for security reasons, and general health and safety practices and procedures.

- 3. Payment; Non-appropriation; Taxes. Payment shall be made by County within thirty (30) days of receipt of invoice. Carroll's Furniture may submit invoice(s) electronically in a form acceptable to County via: apauditor@fortbendcountytx.gov. It is specifically understood and agreed that in the event no funds or insufficient funds are appropriated by Fort Bend County under this Agreement, Fort Bend County shall notify all necessary parties that this Agreement shall thereafter terminate and be null and void on the last day of the fiscal period for which appropriations were made without penalty, liability or expense to Fort Bend County. County is a body corporate and politic under the laws of the State of Texas and claims exemption from sales and use taxes. A copy of a tax-exempt certificate will be furnished upon request. Interest resulting from late payments by County shall be governed by Chapter 2251, Texas Government Code. County reserves the right to withhold payment pending verification of satisfactory work performed.
- 4. **Limit of Appropriation.** Carroll's Furniture clearly understands and agrees, such understanding and agreement being of the absolute essence of this Agreement, that County shall have available the total maximum sum of Fifty-Seven Thousand, Five Hundred Ninety-Nine dollars and 22/100 (\$57,599.22), specifically allocated to fully discharge any and all liabilities County may incur. Carroll's Furniture does further understand and agree, said understanding and agreement also being of the absolute essence of this Agreement, that the total maximum compensation that Carroll's Furniture may become entitled to and the total maximum sum that County may become liable to pay to Carroll's Furniture shall not under any conditions, circumstances, or interpretations thereof exceed Fifty-Seven Thousand, Five Hundred Ninety-Nine dollars and 22/100 (\$57,599.22). In no event will the amount paid by the County for all Services under this Agreement exceed this Limit of Appropriation without an amendment executed by the parties.
- 5. **Public Information Act.** Carroll's Furniture expressly acknowledges that County is subject to the Texas Public Information Act, TEX. GOV'T CODE ANN. §§ 552.001 *et seq.*, as amended, and notwithstanding any provision in the Agreement to the contrary, County will make any information related to the Agreement, or otherwise, available to third parties in accordance with the Texas Public Information Act. Any proprietary or confidential information marked as such provided to County by Carroll's Furniture shall not be disclosed to any third party, except as directed by the Texas Attorney General in response to a request for such under the Texas Public Information Act, which provides for notice to the owner of such marked information and the opportunity for the owner of such information to notify the Attorney General of the reasons why such information should not be disclosed. The terms and

conditions of the Agreement and this Addendum are not proprietary or confidential information.

- 6. **Indemnity.** The parties agree that under the Constitution and laws of the State of Texas, County cannot enter into an agreement whereby County agrees to indemnify or hold harmless another party; therefore, all references of any kind to County defending, indemnifying, holding or saving harmless Carroll's Furniture for any reason are hereby deleted. Carroll's Furniture shall indemnify and defend County against all losses, liabilities, claims, causes of action, and other expenses, including reasonable attorney's fees, arising from activities of Carroll's Furniture, its agents, servants or employees, performed under this agreement that result from the negligent act, error, or omission of Carroll's Furniture or any of Carroll's Furniture's agents, servants or employees.
- 7. **Applicable Law; Arbitration; Attorney Fees.** The laws of the State of Texas govern all disputes arising out of or relating to this Agreement. The parties hereto acknowledge that venue is proper in Fort Bend County, Texas, for all legal actions or proceedings arising out of or relating to this Agreement and waive the right to sue or be sued elsewhere. Nothing in the Agreement shall be construed to waive the County's sovereign immunity. County does not agree to submit disputes arising out of the Agreement to binding arbitration. Therefore, any references to binding arbitration or the waiver of a right to litigate a dispute are hereby deleted. County does not agree to pay any and/or all attorney fees incurred by Carroll's Furniture in any way associated with the Agreement.
- 8. **Certain State Law Requirements for Contracts.** The contents of this Section are required by Texas Law and are included by County regardless of content. For purposes of Sections 2252.152, 2271.002, and 2274.002, Texas Government Code, as amended, Carroll's Furniture hereby verifies that Carroll's Furniture and any parent company, wholly owned subsidiary, majority-owned subsidiary, and affiliate:
 - a. Unless affirmatively declared by the United States government to be excluded from its federal sanctions regime relating to Sudan or Iran or any federal sanctions regime relating to a foreign terrorist organization, is not identified on a list prepared and maintained by the Texas Comptroller of Public Accounts under Section 806.051, 807.051, or 2252.153 of the Texas Government Code.
 - b. If employing ten (10) or more full-time employees and this Agreement has a value of \$100,000.00 or more, Carroll's Furniture does not boycott Israel and is authorized to agree in such contracts not to boycott Israel during the term of such contracts. "Boycott Israel" has the meaning provided in § 808.001 of the Texas Government Code.
 - c. If employing ten (10) or more full-time employees and this Agreement has a value of \$100,000.00 or more, Carroll's Furniture does not boycott energy companies and is authorized to agree in such contracts not to boycott energy companies during the term of such contracts. "Boycott energy company" has the meaning provided in § 809.001 of the Texas Government Code.
 - d. If employing ten (10) or more full-time employees and this Agreement has a value of \$100,000.00 or more, Carroll's Furniture does not have a practice, policy, guidance, or

directive that discriminates against a firearm entity or firearm trade association and is authorized to agree in such contracts not to discriminate against a firearm entity or firearm trade association during the term of such contracts. "Discriminate against a firearm entity or firearm trade association" has the meaning provided in § 2274.001(3) of the Texas Government Code. "Firearm entity" and "firearm trade association" have the meanings provided in § 2274.001(6) and (7) of the Texas Government Code.

- 9. **Modifications and Waivers**. The parties may not amend or waive this Agreement, except by a written agreement executed by both parties. No failure or delay in exercising any right or remedy or requiring the satisfaction of any condition under this Agreement, and no course of dealing between the parties, operates as a waiver or estoppel of any right, remedy, or condition. The rights and remedies of the parties set forth in this Agreement are not exclusive of, but are cumulative to, any rights or remedies now or subsequently existing at law, in equity, or by statute.
- 10. **Human Trafficking**. BY ACCEPTANCE OF CONTRACT, CARROLL'S FURNITURE ACKNOWLEDGES THAT FORT BEND COUNTY IS OPPOSED TO HUMAN TRAFFICKING AND THAT NO COUNTY FUNDS WILL BE USED IN SUPPORT OF SERVICES OR ACTIVITIES THAT VIOLATE HUMAN TRAFFICKING LAWS.
- 11. **Use of Customer Name**. Carroll's Furniture may use County's name without County's prior written consent only in any of Carroll's Furniture's customer lists, any other use must be approved in advance by County.
- 12. **Conflict.** In the event there is a conflict between this Addendum and the Agreement, this Addendum controls. In the event there is a conflict between this Addendum and the terms and conditions of Omnia Partners Contract TCPN# R191804, then the terms and conditions of Omnia Partners Contract TCPN# R191804 controls to the extent of the conflict.
- 13. **Understanding, Fair Construction.** By execution of this Addendum, the parties acknowledge that they have read and understood each provision, term and obligation contained in this Addendum. This Addendum, although drawn by one party, shall be construed fairly and reasonably and not more strictly against the drafting party than the nondrafting party.
- 14. **Captions**. The section captions used in this Agreement are for convenience of reference only and do not affect the interpretation or construction of this Agreement.
- 15. **Electronic and Digital Signatures.** The parties to this Agreement agree that any electronic and/or digital signatures of the parties included in this Agreement are intended to authenticate this writing and to have the same force and effect as the use of manual signatures.
- 16. Compliance with Laws. Carroll's Furniture shall comply with all federal, state, and local laws, statutes, ordinances, rules and regulations, and the orders and decrees of any courts or administrative bodies or tribunals in any matter affecting the performance of this Agreement,

including, without limitation, Worker's Compensation laws, minimum and maximum salary and wage statutes and regulations, licensing laws and regulations. When required by County, Carroll's Furniture shall furnish County with certification of compliance with said laws, statutes, ordinances, rules, regulations, orders, and decrees above specified.

Carroll's Furniture in providing all Services hereunder agrees to abide by the provisions of any applicable Federal or State Data Privacy Act.

- 17. **Independent Contractor**. In the performance of work or services hereunder, Carroll's Furniture shall be deemed an independent contractor, and any of its agents, employees, officers, or volunteers performing work required hereunder shall be deemed solely as employees of Carroll's Furniture or, where permitted, of its subcontractors. Carroll's Furniture and its agents, employees, officers, or volunteers shall not, by performing work pursuant to this Agreement, be deemed to be employees, agents, or servants of County and shall not be entitled to any of the privileges or benefits of County employment.
- 18. **Severability**. If any provision of this Agreement is determined to be invalid, illegal, or unenforceable, the remaining provisions remain in full force, if the essential terms and conditions of this Agreement for each party remain valid, binding, and enforceable.

19. Insurance.

- A. Prior to commencement of the Services, Carroll's Furniture shall furnish County with properly executed certificates of insurance which shall evidence all insurance required and provide that such insurance shall not be canceled, except on 30 days' prior written notice to County. Carroll's Furniture shall provide certified copies of insurance endorsements and/or policies if requested by County. Carroll's Furniture shall maintain such insurance coverage from the time Services commence until Services are completed and provide replacement certificates, policies and/or endorsements for any such insurance expiring prior to completion of Services. Carroll's Furniture shall obtain such insurance written on an Occurrence form from such companies having Bests rating of A/VII or better, licensed or approved to transact business in the State of Texas, and shall obtain such insurance of the following types and minimum limits:
 - 1. Workers Compensation in accordance with the laws of the State of Texas. Substitutes to genuine Workers' Compensation Insurance will not be allowed.
 - 2. Employers' Liability insurance with limits of not less than \$1,000,000 per injury by accident, \$1,000,000 per injury by disease, and \$1,000,000 per bodily injury by disease.
 - 3. Commercial general liability insurance with a limit of not less than \$1,000,000 each occurrence and \$2,000,000 in the annual aggregate. Policy shall cover liability for bodily injury, personal injury, and property damage

- and products/completed operations arising out of the business operations of the policyholder.
- 4. Business Automobile Liability coverage applying to owned, non-owned and hired automobiles with limits not less than \$1,000,000 each occurrence combined single limit for Bodily Injury and Property Damage combined.
- B. County and the members of Commissioners Court shall be named as additional insured to all required coverage except for Workers' Compensation and Professional Liability (if required). All Liability policies written on behalf of Carroll's Furniture shall contain a waiver of subrogation in favor of County and members of Commissioners Court. For Commercial General Liability, the County shall be named as an Additional Insured on a Primary & Non-Contributory basis.
- C. If required coverage is written on a claims-made basis, Carroll's Furniture warrants that any retroactive date applicable to coverage under the policy precedes the effective date of the Contract and that continuous coverage will be maintained or an extended discovery period will be exercised for a period of 2 years beginning from the time the work under this Contract is completed.
- D. Carroll's Furniture shall not commence any portion of the work under this Contract until it has obtained the insurance required herein and certificates of such insurance have been filed with and approved by Fort Bend County.
- E. No cancellation of or changes to the certificates, or the policies, may be made without thirty (30) days prior, written notification to Fort Bend County.
- F. Approval of the insurance by Fort Bend County shall not relieve or decrease the liability of Carroll's Furniture.

(Execution Page Follows)

(Remainder of Page Intentionally Left Blank)

IN WITNESS WHEREOF, this Addendum is signed, accepted, and agreed to by all parties by and through the parties or their agents or authorized representatives. All parties hereby acknowledge that they have read and understood this Addendum and the attachments and exhibits hereto. All parties further acknowledge that they have executed this legal document voluntarily and of their own free will. This Addendum is effective upon execution by both parties.

FORT BEND COUNTY	CARROLL'S DISCOUNT OFFICE FURNITURE CO.
KP George, County Judge	Authorized Agent – Signature
	Frank Carroll
Date	Authorized Agent- Printed Name
	Co_pres
ATTEST:	Title
	2-26-24
Laura Richard, County Clerk	Date
AUDITOI	R'S CERTIFICATE
I hereby certify that funds in the amount of \$ of Fort Bend County within the foregoing As	are available to pay the obligation greement.
	Robert Ed Sturdivant, County Auditor
Exhibit A: Carroll's Furniture's Proposal	

I:\AGREEMENTS\2024 Agreements\Facilities\Carroll's Discount Furniture (24-Fac-100460)\Addendum to Agreement with Carroll's Discount Office Furn. Co..docx aw

Exhibit A

~		~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	
PROJECT #: 4	660	PROJECT NAME: GENERAL PROJECT	-
CARROLL'S OFFICE	FURNITU	E 713-667-6668 DATE 02/16/24 INV. FAX: (713)667-3344 SALESPERSON FRANK C	# 34903-0
5615 S RICE AVE		WRITER FRANK C	ARROLL
HOUSTON	TX '	7081 PAGE # 1	
CITCEOMED #		QUOTE CUSTOMER PO #	
BILLING ADDRESS		SHIPPING ADDRESS	
FT. BEND COUNTY A	UDITOR	PRECINT 3	
301 JACKSON		BEING HELD 151 STADIUM DR	
RICHMOND	TX '		TX 77478
CUSTOMER PHONE #	281-341	3759 FAX # 281-341-8642	
		Quantity Unit	Extended
Item Number	Mfg	Product Description Ordered Price	Price
		ATTN: LEAH GIBSON 281.238.3097	
		HON OMNIA TCPN# R191804	
HETP6524FP	HCL	Tackable Panel w/o TC 65H x 1 159.220	159.22
		24W	
		Option = \$(A) Grd A Fabric	
		Option = .TP Tempest Option = 35 Zebra	
		Option = \$(P1) P1 Paint Opts	
		Option = .P28 Fossil	
HETP6536FP	HCL	Tackable Panel w/o TC 65H x 8 180.080	1440.64
11022 000 02 2		36W	
•		Option = \$(A) Grd A Fabric	
		Option = .TP Tempest	
		Option = 35 Zebra Option = \$(P1) P1 Paint Opts Option = .P28 Fossil	
		Option = P28 Rossil	
		obeton - 1250 Lobbit	
HETP4248FP	HCL	Tackable Panel w/o TC42.5H x 16 166.280	
			CONTINUED

PROJECT #:	4660		PRO	JECT NAME	: GENE	RAL PR	OJECT	
· · · · · · · · · · · · · · · · · · ·				** ** ** ** ** ** ** **				
G3.55.07.7.1.0.4.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5.5								
CARROLL'S OFFICE	FURNITU	RE	713-6	67-6668 \	DATE	02/16	/24 INV	.# 34903-0
5615 S RICE AVE			FAX: (/13)667-3344			RANK FRANK	
HOUSTON	TX				PAGE	#	2	,
CUSTOMER #		 T		ODOTE	CUSTO	AEB DO		
BILLING ADDRES	S			20012			ADDRESS	
FT. BEND COUNTY	AUDITOR				PRECI			
301 JACKSON			BEI	NG HELD				
RICHMOND	ידי	77469				MUIDAT LAND		BY 77470
	7.22	77202			MADUG	TIENTO		TX 77478
CUSTOMER PHONE #								
~~~~~~~~								
Ttom Numbon	NG -	77.00	5		Qua	ntity	Unit	Extended
Item Number	meg	Product	Descripti	on	- Ord	ered	Price	Price
			48W					
		Option :	= \$(A)	Grd A Fa Tempest	bric			
		Option :	= TP	Tempest				
		Option :	= 35	Zebra P1 Paint Fossil				
		Option:	= ,\$(P1)	P1 Paint	: Opts			
		Option :	= .P28	Fossil				
HETP4236FP	HCL	Tackable	e Panel w/	o TC 42.5H	×	16	146 700	2347.20
			36W	0 10 12.511			140.700	2347.20
		Option :	= \$(A)	Grd A Fa Tempest	bric			
		Option :	= .TP	Tempest				
		Option :	= 35	Zehra				
		Option :	= \$(P1)	Pl Paint	. Opts			
		Option :	= .P28	Fossil				
HWR2472P	HCL	Systems	Rectangul	ar		16	224 700	3595.20
		<b>-</b>		rface Edgeb	and 24D		2211.00	3333.20
		Option :		Grd L1 S			tes	
				Silver M			- <del></del>	
		Option :	= .EH	Fossil				
		Option :	= .EH	Fossil				
								CONTINUED

PROJECT #: 46	560	PROJECT NAME: GENERAL PROJECT	
CARROLL'S OFFICE I		E 713-667-6668 DATE 02/16/24 INV FAX: (713)667-3344 SALESPERSON FRANK	.# 34903-0
5615 S RICE AVE HOUSTON	TX	WRITER FRANK 7081 PAGE # 3	CARROLL
	60 DEP	QUOTE CUSTOMER PO # SHIPPING ADDRESS PRECINT 3	
301 JACKSON RICHMOND	TX 7		TX 77478
CUSTOMER PHONE # 2		3759 FAX # 281-341-8642	
Item Number	- Mfg	Quantity Unit Product Description Ordered Price	Extended Price
H18723R	HCL	Flagship Series Pedestal "R" 8 327.740  Pull Mobile B/B/F 23D  Option = .L Standard Random Key Lock  Option = \$(P1) P1 Paint Opts  Option = .P28 Fossil	2621.92
H18823R	HCL	Flagship Series Pedestal "R" 8 327.740 Pull Mobile F/F 23D 2  Option = .L Standard Random Key Lock  Option = \$(P1) P1 Paint Opts  Option = .P28 Fossil	2621.92
НН871224	HCL	Electrical Power Harness 24W 2 89.880 3-1 & 2-2 Systems	179.76
нн871236	HCL	Electrical Power Harness 36W 16 89.880 3-1 & 2-2 Systems	1438.08
HH871248.	HCL	Electrical Power Harness 48W 16 94.700 3-1 & 2-2 Systems	1515.20
			CONTINUED

PROJECT #:		PROJECT NAME: GENERAL PROJECT	
5615 S RICE AVE HOUSTON	TX		CARROLL
BILLING ADDRES FT. BEND COUNTY 301 JACKSON	4660 DEP S AUDITOR	BEING HELD 151 STADIUM DR	S
		77469 SUGAR LAND -3759 FAX # 281-341-8642	TX 77478
		Quantity Unit Product Description Ordered Price	Extended
нн879072	HCL	Base In-Feed Cable Base 3-1 & 2 100.470 2-2 Systems	200.94
НН871501	HCL	Duplex Receptacle Circuit 1 24 19.260 3-1 & 2-2 Systems Option = .EY Brownstone	462.24
HH871504	HCL	Duplex Receptacle Circuit 4 8 19.260 3-1 & 2-2 Systems Option = .EY Brownstone	154.08
HRVOH1536RM	HCL	Abound Receding Door Overhead 8 321.960 36 W  Option = \$(P1) P1 Paint Opts Option = .P28 Fossil Option = .L Lock	2575.68
HECC15	HCL		141.28
		200022	CONTINUED

PROJECT #: 466	io	PRO	OJECT NAME	: GENERAL	PROJECT	
CARROLL'S OFFICE FO	RNITUR	E 713-6 FAX: (71)	667-6668 3)667-3344	DATE 02 SALESPE	/16/24 INV RSON FRANK	.# 34903-0 CARROLL
5615 S RICE AVE HOUSTON	TX 7	7081		WRITER PAGE #	FRANK 5	CARROLL
CUSTOMER # 466 BILLING ADDRESS FT. BEND COUNTY AUI	O DEPI	•		CUSTOMER	. PO # ING ADDRESS	
301 JACKSON RICHMOND	TX 7			151 STAD SUGAR LA		TX 77478
CUSTOMER PHONE # 28		3759 FAX # 28				
Item Number	Mfg	Product Descript	ion	Quanti	ty Unit d Price	Extended Price
HLED31AS	HVO	31" LED LIGHT W/		Y 8	239.150	1913.20
HWSB2	HCL	Worksurface Brace Option = \$(P1) Option = .P28	ket Kit Pl Paint Fossil	10 Opts	20.540	205.40
HRVCLG24	HCL.	Abound 29"H x 24 Unive Option = \$(P1) Option = .P28	rsal Support Pl Paint	Leg	84.420	337,68
HCTL242	HCL	24D Cantilever (Option = \$(P1) Option = .P28			36.590	292.72
HHNB31124	HCL	<pre>Flat Bracket 24I Option = ,S</pre>			28.250	226.00
HCTL241R	HCL	Right-hand Canti	lever 24 "D	6		119.40 CONTINUED

PROJECT #:	4660	PR	OJECT NAME	: GENEF	RAL PR	OJECT	
CARROLL'S OFFICE	3 FURNITU	JRE 713-	667-6668	DATE	02/16	/24 TNV	'# 34903-0
		FAX: (71	3)667-3344	SALES	PERSO	N FRANK	CARROLL
5615 S RICE AVE HOUSTON	ТX			PAGE	#		
CUSTOMER # BILLING ADDRES FT. BEND COUNTY	4660 DEP	•	QUOTE	CUSTON	IER PO		
301 JACKSON		ಚಟ	ING HELD	161 00	י אוד דר אי	י דירד	
RICHMOND	TX	77469		151 ST SUGAR			TX 77478
					221 2212		111 //4/0
CUSTOMER PHONE #	281-341	3759 FAX # 28	1-341-8642				
Item Number	Mfa	Product Descript	ion	Quar - Oxde	itity	Unit	Extended
Item Number							FIIGE
		Option = \$(P1) Option = .P28	Select P	1 Paint			
HCTL241L	HCL	Left-hand Cantil	ever 24 n		7	16 600	120 20
		Option = \$(P1)	Select P	l Paint	•	19.900	133.30
		Option = \$(P1) Option = .P28	Fossil				
HBTP4224FP	HCL	Tackable Panel v		×	1	132.250	132.25
		Option = \$(A)	Grd A Fa	bric			
		Option = .TP Option = 35	Tempest				
		Option = \$(P1)	P1 Paint	Opts			
		Option = .P28	Fossil				
HETP6524FP	HCL	Tackable Panel w			3	159.220	477.66
		Option = $\$(A)$		bric			
		Option $=$ .TP	Tempest				
		Option = 35 Option = \$(P1)	Zebra				
		Option = \$(P1)	Pl Paint	Opts			CONTINUENTE
							CONTINUED

PROJECT #:	4660		PROJI	ECT NAME	: GENEF	AL PR	OJECT	
								~*~~
CARROLL'S OFFICE	FURNITU	RE FA	713-667 Y. (713)	7-6668 567-3344	DATE	02/16	/24 INV	.# 34903-0
5615 S RICE AVE HOUSTON	ТX	77081			WRITE PAGE	R #	FRANK 7	CARROLL
CUSTOMER # BILLING ADDRES	4660 DEP			JOTE		ER PO		
FT. BEND COUNTY			17 17 17 18 T	4 7777V Yo	PRECIN		ADDICTOR	
301 JACKSON			BRIM	HELD	151 S7	MUI.GA!	DR	
RICHMOND	TX	77469			SUGAR	LAND		TX 77478
CUSTOMER PHONE #	281-341			341-8642				
Item Number						tity	Unit	Extended
Item Number	Mfg 	Product De	escription	\	- Orde	red	Price	Price
		Option = .	. P28	Fossil				
HETP6536FP	HCL		36W			4	180.080	720.32
		Option = \$ Option = .	(A)	Grd A Fa	bric			
		Option = 3	TP	Tempest				
		Option = 3 Option = \$	5(P1)	D1 Daint	Onte			
		Option = .	P28	Fossil	Opes			
HWR2472P	HCL	Systems Re	ctangular	<del>.</del>		2	224.700	449.40
				face Edgeb				
		Option = \$				Lamina	tes	
		Option $=$ .	.B9	Silver M	lesh			
		Option = .						
		Option = .	EH.	Fossil				
HETP4236FP	HCL	Tackable F	Panel w/o 36W	TC 42.5H	x	2	146.700	293.40
		Option = \$	(A)	Grd A Fa	bric			
		Option = .	TP	Tempest				
								CONTINUED

PROJECT #: 466	0		PROJEC	T NAME:	GENE	RAL PRO	OJECT	
	•						1	
CARROLL'S OFFICE FU	RNITUI	RE 71 FAX:(						
5615 S RICE AVE HOUSTON	тх ′				WRITE	ER	FRANK (	CARROLL
CUSTOMER # 466 BILLING ADDRESS FT. BEND COUNTY AUD	0 DEP	Γ	QUO	TE	CUSTON SHI	MER PO	# ADDRESS	
FI. BEND COUNTY AUD	LIOR		BEING		PRECIN	N.T. 3		
301 JACKSON RICHMOND	TX '	77469	DELINO	1111117		CADIUM LAND		TX 77478
CUSTOMER PHONE # 28	1-341							
Item Number	Mfg	Product Descr	íption-		- Orde	ered	Price	Extended Price
		Option = 35 Option = \$(P1	)	P1 Paint	Opts			
		Option = .P28		Fossil	_			
HWR2448P	HCL	•		ce Edgeba	and 24D		172.060	344.12
		Option = \$(L1.					ces	
		Option = .B9						
		Option $=$ .EH						
		Option = .EH		Fossil				
HRVOH1536RM	HCL		ng Door	Overhea	đ	4	321.960	1287.84
		Option = \$(P1	)	Pl Paint	0pts			
		Option $=$ .P28		Fossil				
		Option = .L		Lock				
HECC15	HCL	Cord Cover 15		_		4	17.660	70.64
		Option = \$(P1 Option = .P28		P1 Paint Fossil	Opts			
HLED31AS	нуо	31" LED LIGHT			Ť	4	239.150	956.60
								CONTINUED

PROJECT #: 40	560	PROJECT NAME: GENERAL PROJECT	
CARROLL'S OFFICE 1 5615 S RICE AVE HOUSTON	FURNITU TX	FAX: (713)667-3344 SALESPERSON FRANK WRITER FRANK	.# 34903-0 CARROLL CARROLL
CUSTOMER # 4 BILLING ADDRESS FT. BEND COUNTY AV 301 JACKSON RICHMOND	560 DEP UDITOR	SHIPPING ADDRESS	TX 77478
CUSTOMER PHONE #	28 <b>1</b> -341	-3759 FAX # 281-341-8642 Quantity Unit	Extended
Item Number	- Mfg 	Product Description Ordered Price	Price
HWSB2	HCL		82.16
HRVCLG24	HCL	Abound 29"H x 24"D Abound 2 84.420 Universal Support Leg Option = \$(P1) P1 Paint Opts Option = .P28 Fossil	168.84
HCTL242	HCL	24D Cantilever One Pair 2 36.590 Option = \$(P1) P1 Paint Opts Option = .P28 Fossil	73.18
HCTL241L	HCL	Left-hand Cantilever 24"D 2 19.900 Option = \$(P1) Select Pl Paint Option = .P28 Fossil	39.80
H18723R	HCL	Flagship Series Pedestal "R" 2 327.740 Pull Mobile B/B/F 23D	
•			CONTINUED

PROJECT #: 4	660	PROJECT NAME: GENERAL PROJECT	
CARROLL'S OFFICE	FURNITUI	E 713-667-6668 DATE 02/16/24 INV.# FAX: (713)667-3344 SALESPERSON FRANK CA	34903-0 RROLL
5615 S RICE AVE HOUSTON	TX 7	WRITER FRANK CA	RROLL
	660 DEP	QUOTE CUSTOMER PO # SHIPPING ADDRESS	
301 JACKSON RICHMOND	TX '	151 STADIUM DR	TX 77478
· · · · · · · · · · · · · · · · · · ·		3759 FAX # 281-341-8642	
Item Number	Mfg	Quantity Unit Product Description Ordered Price	Price
		Option = .L Standard Random Key Lock Option = \$(P1) Pl Paint Opts Option = .P28 Fossil	
H18823R	HCL	Flagship Series Pedestal "R" 2 327.740  Pull Mobile F/F 23D 2  Option = .L Standard Random Key Lock  Option = \$(P1) P1 Paint Opts  Option = .P28 Fossil	655.48
нн871236	HCL	Electrical Power Harness 36W 4 89.880 3-1 & 2-2 Systems	359.52
HH871224	HCL	Electrical Power Harness 24W 3 89.880 3-1 & 2-2 Systems	269.64
HH871501	HCL:	Duplex Receptacle Circuit 1 4 19.260 3-1 & 2-2 Systems Option = .EY Brownstone	77.04
HH871504	HCL	Duplex Receptacle Circuit 4 2 19.260	38.52 ONTINUED

		THE STATE OF THE PROTECT	
PROJECT #: 4660	)	PROJECT NAME: GENERAL PROJECT	
			<b>#</b> 34903-0
CARROLL'S OFFICE FU	KNITUR	: 713-667-6668 DATE 02/16/24 INV. FAX: (713)667-3344 SALESPERSON FRANK C	ARROLL
5615 S RICE AVE HOUSTON	TX 7	WRITER FRANK	ARROLL
CUSTOMER # 466 BILLING ADDRESS FT. BEND COUNTY AUD	DEPT	QUOTE CUSTOMER PO # SHIPPING ADDRESS PRECINT 3	
301 JACKSON RICHMOND	TX 7	BEING HELD 151 STADIUM DR 7469 SUGAR LAND	TX 77478
CUSTOMER PHONE # 28	1-341-	3759 FAX # 281-341-8642	_ ~ = = = = = = = = = = = = = = = = = =
The North and	Mfa	Quantity Unit Product Description Ordered Price	Extended Price
		3-1 & 2-2 Systems Option = .EY Brownstone	
нн879072	HCL	Base In-Feed Cable Base 3-1 & 1 100.470 2-2 Systems	100.47
HETP4248FP	HCL	Tackable Panel w/o TC42.5H x 2 166.280	332.56
		Option = \$(A) Grd A Fabric Option = .TP Tempest Option = 35 Zebra Option = \$(P1) P1 Paint Opts Option = .P28 Fossil	
нн871248	HCL	Electrical Power Harness 48W 2 94.700 3-1 & 2-2 Systems	189.40
H10541	HCG	10500 Series Cred Shell 72W x 2 354.310 24D x 29-1/2H	708.62
		Option = \$(L1STD) Grd L1 Standard Laminates	
•		Option = .LKI1 Kingswood Walnut	CONTINUED

PROJECT #: 46	60	PROJE	CT NAME	: GENERAL PRO	OJECT	
					/D / TNTY	# 24002.0
CARROLL'S OFFICE F	URNITU	RE 713-667 FAX:(713)6	~6668 <i>67</i> _3344	DATE 02/16	/24 LNV. N FRANK (	TARROLL
5615 S RICE AVE		PAA: (/13/0	01-2744	ממייד מזו	TO ANK (	CARROLL
HOUSTON	TX	77081		PAGE #	12	
				CUSTOMER PO		
CUSTOMER # 46 BILLING ADDRESS	PO DEEL	t. Õn	OIE	SHIPPING	ADDRESS	
FT, BEND COUNTY AU	DITOR			PRECINT 3		
		BEING	HELD			
301 JACKSON		ám.1.60		151 STADIUM SUGAR LAND		TX 77478
RICHMOND	TX	77469		SUGAR LIAND		122 //1/0
CUSTOMER PHONE # 2	81-341	-3759 FAX # 281-3	41-8642			
Item Number				Quantity	Unit	Extended
Item Number	- Mfg	Product Description		- Ordered		
	-	Option = LKI1				
		_				
HNLRC2448	HCG	<del>-</del>		4	152.310	609.24
		Worksurf		₽7 a+		
		Option = .G Option = KI	Kingswoo	od Walnut		
		Option = .P	Black			
		Option = \$(L1STD) Option = .LKI1	Grd Ll S	Standard Lamina	ites,	
		Option = .LKI1	Kingswoo	od Walnut		
HNT.3672BUEP	זוכפ	72x36x29-1/2 Bullet	Peningui	la 3	494.900	1484,70
HNL3672BUEP	псо	w/end pa				
		Ontion = G	Smooth.	Flat		
		Option = KT Option = \$(L1STD) Option = .LKI1 Option = \$(L1STD)	Kingswoo	od Walnut		
		Option = \$(L1STD)	Grd L1	Standard Lamina	ites	
		Option = .LKI1	Kingswoo	od Walnut		
		Option = \$(L1STD)	Grd L1	Standard Lamina	ices	
		Option = .LKI1	Kingswo	od Walnut		
HETP4224FP	HCL	Tackable Panel w/o	TC 42.5H	x 4	132,250	529.00
UDIE-77711	-14-11	24W	m·+**			
						CONTINUED

<i></i>								
PROJECT #: ' 4660	0		PROJE	CT NAME	: GENEF	RAL PRO	OJECT	
CARROLL'S OFFICE FU	RNITUI	E F	713-667 AX:(713)6	67-3344	SALES	SPERSO	N FRANK C	ARROLL
5615 S RICE AVE HOUSTON	TX '	77081			WRITE PAGE		FRANK C	ARROLL
CUSTOMER # 4660 BILLING ADDRESS	DEP	F	QŪ	OTE			# ADDRESS	
FT. BEND COUNTY AUD	ITOR		BEING	HELD	PRECI			
301 JACKSON RICHMOND	TX '	77469				MUIDAT LAND		TX 77478
CUSTOMER PHONE # 28								
Item Number			Description		- Orde			Extended Price
			\$ {A}					
		Option =	.TP	Tempest				
•		Option =	35	Zebra				
		Option =	\$ (P1)	Pl Paint	Opts			
		Option =	.P28	Fossil				
HETP4230FP	HCL	Tackable	Panel w/o	TC 42.5H	×	3	139.310	417.93
			\$ (A) .		bric			
			.TP					
			35					
			\$(P1)		Opts			
		Option =	.P28	Fossil				
HWR2454P	HCL	Systems I	Rectangular				182.330	364.66
			Worksurf					
		<del>-</del>	• •	Grd Ll S		Lamina	ces	
		Option =		Silver M Fossil	resn			
		Option =		Fossil				
		Oberon =	. AL	E OSSTT				
HWSB2	HCL	Worksurfa	ace Bracket	Kit		2	20.540	41.08 CONTINUED

			<del>-</del> -		
PROJECT #: 466		PROJECT NAME: GENE			
		<b> </b>		<b> </b>	
CARROLL'S OFFICE FU	RNITU	RE 713-667-6668 DATE FAX:(713)667-3344 SALE	02/16 SPERSO	/24 INV	.# 34903-0 CARROLL
5615 S RICE AVE HOUSTON	ТХ		ER #	FRANK (	CARROLL
	O DEP	T QUOTE CUSTO SH	MER PO IPPING		
FT. BEND COUNTY AUD	TIOK	BEING HELD	NT 2		
301 JACKSON RICHMOND	тх		TADIUM LAND		TX 77478
CUSTOMER PHONE # 28	1-341	-3759 FAX # 281-341-8642			
Item Number	Mfg	Qua Product Description Ord	ntity ered	Unit Price	Extended Price
		Ontion - \$(P1) P1 Paint Onts			
		Option = \$(P1) P1 Paint Opts Option = .P28 Fossil			
HCTL241R	HCL	Right-hand Cantilever 24°D Option = \$(P1) Select P1 Faint	1	19.900	19.90
		Option = .P28 Fossil			
HCTL241L	HCL			19.900	19.90
		Option = \$(P1) Select P1.Paint Option = .P28 Fossil			
HCTL242	HCL		2	36.590	73.18
		Option = \$(P1) P1 Paint Opts Option = .P28 Fossil			
HH871224	HCL	Electrical Power Harness 24W 3-1 & 2-2 Systems	3	99.880	269.64
НН871230	HCL	Electrical Power Harness 30W 3-1 & 2-2 Systems	2	89.880	179.76
НН879072	HCL	Base In-Feed Cable Base 3-1 &	1	100.470	100.47 CONTINUED

PROJECT #: 4	1660	PROJI	CT NAME	: GENERAL PR	OJECT	
CARROLL'S OFFICE	FURNITU	RE 713-667 FAX:(713)6	7-6668 567-3344	DATE 02/16 SALESPERSO WRITER	/24 INV N FRANK FRANK	CARROLL
HOUSTON  CUSTOMER # 4  BILLING ADDRESS  FT. BEND COUNTY F	 1660 DEP	T Qī	JOTE		#	
301 JACKSON RICHMOND	ТХ		HELD	151 STADIUM SUGAR LAND		TX 77478
CUSTOMER PHONE #		-3759 FAX # 281-3				
Item Number	Mfg		<b>.</b>	Quantity - Ordered	Unit Price	Extended Price
		2-2 Syst				
нн871501	HCL	Duplex Receptacle (3-1 & 2-Option = .EY	2 Systems	ı	19.260	38.52
НН871504	HCL	Duplex Receptacle ( 3-1 & 2- Option = .EY	2 Systems	ı	19.260	38.52
H105104	нсg	10500 SeriesMobile	Full Ht P 5/8W x 22- Grd Ll S	ed 3 3/4D tandard Lamina		1305.33
		Option = LKI1	Kingswoo	d Walnut		
H1522	HCG	Wood Center Drawer 15-3/8D	22W x	4	82.820	331.28
		Option = \$(L1STD) Option = .LKI1		tandard Lamina d Walnut	tes	
HNL231628PFF	HCG	15-3/4Wx23-1/8Dx28-	·1/2H	. 2	393.900	787.80 CONTINUED

PROJECT #: 466	0		PROJE	CT NAME:	GENERAL PRO	OJECT	
							_
CARROLL'S OFFICE FO	RNITU	RE Fai	713-667 71316	-6668 67-3 <b>344</b>	DATE 02/16 SALESPERSO	/24 INV. N FRANK (	.# 34903-0 CARROLL
5615 S RICE AVE		D FLI	1. (/1.5/0	u, 2544	WRITER		
HOUSTON	TX	77081			PAGE #	16	
CUSTOMER # 466		 r	OU	OTE			
BILLING ADDRESS			_		SHIPPING		
FT. BEND COUNTY AUI	ITOR			******	PRECINT 3		
201 TROVOON			BEING	HELD	151 STADIUM	מרו	
301 JACKSON RICHMOND	איזי	77469			SUGAR LAND		TX 77478
114 (2114)		,,,,,,					
CUSTOMER PHONE # 28	31-341	-3759 FAX	# 281-3	41-8642			
							Extended
Item Number	Mfa	Product De	scription		- Ordered	Price	Price
namet	·						
			File/File				
		Option = . Option = .	В	Cylinder	/Black		
		Option = .	P	Black		•	
		Option ≈ \$	(LISTD)	Grd Ll S	tandard Lamina	res	
		Option = :	LKII /r.1emn)	Kingswoo	d Walnut tandard Lamina	tes	
		Option = .	LKI1	Kingswoo	d Walnut		
HPC190X	HCG	Park Ave S	upport Co	lumn for	, <u>3</u>	90.500	271.50
					erng Pen .		r
		Option = \$ Option = .	(PT)	AT ASIUC	. Opts		
		Option = .	r	Black			
HNLMP4810	HCG	48W x 10H	Modesty /	Back Pan	iel 4	123.620	494.48
		Option = \$	(LISTD)	Grd L1 5	tandard Lamina	tes.	
		Option = .	LKIL	Kingswoo	nd Walnut		
HETP4230FP	HCL	Takable P	anal w/o	ጥሮ ልጋ ይህ	x 8	139 310	1.7.1.4 . 48
ME1P4230FF	NC10	iackapie r	30W	** 45.011		207.020	
		Option = \$	(A)	Grd A Fa	ıbric	•	
		Option = .					
							CONTINUED

		<b>* * - *</b>						
PROJECT #: 466	0		PROJE	CT NAME:	GENER	AL PRO	OJECT	
CARROLL'S OFFICE FU	(RNITU	RE 7	13-667	-6668	DATE	02/16	/24 INV.	# 34903-0
5615 S RICE AVE		FAX:	(713)6	67-3344	SALES	PERSOI P	FRANK C	ARROLL ARROLL
• • • • • • • • • • • • • • • • • • • •	XT.	=			PAGE	#	17	
CUSTOMER # 466		 T						
BILLING ADDRESS	O DEE	*	<u>0</u> 0		SHI	PPING	# ADDRESS	
FT. BEND COUNTY AU	ITOR				PRECIN	T 3		
201 73077007			BEING	HELD	151 ST	13 T. T. T. M.	חמ	
301 JACKSON RICHMOND	י איזי	77469			SUGAR			TX 77478
NEGITIONE .		,,105			500			
CUSTOMER PHONE # 28	31-341	-3759 FAX #						
				-				Extended
Item Number	Mfg	Product Desc	ription		- Orde	red	Price	Price
~+~~~		Option = 35						
		Option = \$(P			Opts			
		Option = .P2	8	Fossil	-			
HETP4260FP	HCL	Tackable Pan	el w/o '	rc 42 5H	~	6	184 586	1107 48
ABIT 420011	1104	6	OW			Ū	2011004	A
		Option = \$(A	<b>()</b>	Grd A Fa	bric			
		Option = .TE	1	Tempest				
		Option = 35		Zebra				
		Option = \$(F			. Opts			
		Option = .P2	18	Fossil				
HWR2460P	HCL	Systems Rect	angular			6	203.190	1219.14
				ace Edgeb				
		Option = \$(I	.1STD)	Grd Ll S	tandard	Lamina	tes	
		Option = .B9			lesh			
		Option = .EH	I	Fossil				
		Option = .EH	Ţ	Fossil				
HLSLZ5SC60	HCL	48"W Externa	l Stiff	ener		б	55.750	334.50
		Option = .P						
								CONTINUED

PROJECT #: 466	D 	PROJECT NAME:		JECT	
5615 S RICE AVE	TX 770	713-667-6668 FAX:(713)667-3344	PAGE #	18	# 34903-0 CARROLL CARROLL
CUSTOMER # 466 BILLING ADDRESS FT. BEND COUNTY AUD	O DEPT		CUSTOMER PO SHIPPING PRECINT 3	#	
301 JACKSON RICHMOND	TX 774		151 STADIUM SUGAR LAND		TX 77478
CUSTOMER PHONE # 28	1-341-37	759 FAX # 281-341-8642			
The Number	Mfa Dr	coduct Description	Quantity - Ordered	Unit Price	Extended Price
	HCL Le	eft-hand Cantilever 24"D ption = \$(P1)	б		
HCTL241R	Or	ight-hand Cantilever 24°D ption = \$(P1)		19.900	119.40
нн871260	HCL E	lectrical Power Harness 60W 3-1 & 2-2 Systems		94.700	568.20
нк871501		uplex Receptacle Circuit 1 3-1 & 2-2 Systems ption = .EY Brownsto	3	19.260	115.56
нн871504		uplex Receptacle Circuit 4 3-1 & 2-2 Systems ption = .EY Brownsto	3	19,260	115.56

HCL Base In-Feed Cable Base 3-1 & 2 100.470

нн879072

200.94

CONTINUED

PROJECT #: 466	0	PROJ		GENERAL PR	OJECT	
CARROLL'S OFFICE FU	RNITU	RE 713-66 FAX:(713)	7-6668 667-3344	SALESPERSO	N FRANK (	CARROLL
5615 S RICE AVE HOUSTON	TX	77081		WRITER PAGE #	FRANK (	CARROLL
CUSTOMER # 466 BILLING ADDRESS FT. BEND COUNTY AUD		_	OUOTE	CUSTOMER PO SHIPPING PRECINT 3		
301 JACKSON RICHMOND	ТX	7 <b>74</b> 69	G HEED	151 STADIUM SUGAR LAND		TX 77478
CUSTOMER PHONE # 28	1-341	-3759 FAX # 281-	341-8642			
Item Number	Mfg	Product Description	n	Quantity - Ordered	Price	Price
		2-2 Sys				
HETC24	нсь	Panel Top Cap 24"7 Option = \$(P1) Option = .P28	Y Pl Paint Fossil	9 Opts	17.330	155.97
нетС36	HCL	Panel Top Cap 36" Option = \$(P1) Option = .P28	P1 Paint	30 : Opts	26.320	789.60
HETC48	HCL	Panel Top Cap 48" Option = \$(P1) Option = .P28	Pl Paint	18 : Opts	29.850	537.30
HETC30	HCL	Panel Top Cap 30" Option = \$(P1) Option = .P28	W Pl Paint Fossil	11 Opts	20.540	225.94
HETC60	HCL	Panel Top Cap 60" Option = \$(P1) Option = .P28	Pl Paint	6 : Opts	37.240	223.44
		Operon - 1820	r cace t			CONTINUED

PROJECT #: 46	560 	PROJECT NAME: GENERAL PROJECT	
Capportie operer i	2FF M TIVIT	TT 717 667 6660 DAME 02/16/24 TABLE	# 34B03 0
CARROLLI S OFFICE I	COMMITION	E 713-667-6668 DATE 02/16/24 INV.: FAX: (713)667-3344 SALESPERSON FRANK C	F 34903-0 ARROLL
5615 S RICE AVE HOUSTON	TX '	WRITER FRANK C	ARROLL
	660 DEP	QUOTE CUSTOMER FO # SHIPPING ADDRESS	
301 JACKSON RICHMOND	TX '	151 STADIUM DR	TX 77478
The state of the s		3759 FAX # 281-341-8642	
		Quantity Unit	Extended
		Product Description Ordered Price	
HEC65PLN	HCL	65H "L" Connector Post 4 63.240 Option = \$(P1) Pl Faint Opts Option = .P28 Fossil	252.96
HECSL	HCL	"L" Connector Strap 21 7.060	148.26
HEFEC65P	HCL	Panel Finished End Covers 65H 2 28.890 Option = \$(P1) P1 Paint Opts Option = .P28 Fossil	57.78
HSCKTPS	HCL	Straight Connector Kit 20 9.630 Option = .X No Option	192.60
HEC65PTN	HCL	65H "T" Connector Post 4 60.990 Option = \$(P1) Pl Paint Opts Option = .P28 Fossil	243.96
HECVH22P	HCL	Variable Height Connector Kit 4 29.530 22.5H	118.12
		Option = \$(P1) Pl Paint Opts	CONTINUED

PROJECT #: 4	660	PROJE	CT NAME:	: GENEF	EAL PRO	OJECT	
5615 S RICE AVE		RE 713-667- FAX: (713) 66	57-3344	SALES	PERSOI R	FRANK (	CARROLL
HOUSTON  CUSTOMER # 4  BILLING ADDRESS FT. BEND COUNTY A	660 DEP	r QUO	OTE	CUSTOM	ER PO		
301 JACKSON RICHMOND	TX '	BEING 77469	HELL	151 ST SUGAR			TX 77478
CUSTOMER PHONE #		-3759 FAX # 281-34					
Item Number	Mfg	Product Description-		Quan - Orde	tity red	Unit Price	Extended
		Option = .P28					
HECSS	HCL	Extended Straight Co Strap "S"			3	10.270	30.81
HEC42PLN	HCL	42.5H "L" Connector Option = \$(P1) Option = .P28	P1 Paint		18	49.430	889.74
HEFEC42P	HCL	Panel Finished End C 42.5H Option = \$(P1) Option = .P28	P1 Paint		22	24.080	529.76
HECS1	HCL	Single Connector Str	ap		1	7.060	7.06
HEC42PTN	HCL		Post Pl Paint Fossil	Opts	8	46.550	372.40
HECST	HCL	"T" Connector Strap			9	10.270	92.43 CONTINUED

PROJECT #:	4660		PROJECT NAME	: GENERAL PRO	OJECT	
CARROLL'S OFFICE 5615 S RICE AVE HOUSTON		RE 71 FAX:	13-667-6668 (713)667-3344	DATE 02/16 SALESPERSON WRITER PAGE #	/24 INV. N FRANK C FRANK C	# 34903-0 ARROLL ARROLL
CUSTOMER # BILLING ADDRES FT. BEND COUNTY  301 JACKSON RICHMOND	4660 DEP S AUDITOR	т 77469	BEING HELD		# ADDRESS DR	
CUSTOMER PHONE #	281-341	-3759 FAX #				
Item Number					Price	Price
HEVHF22P	HCL	Fi Option = \$(P1	able Height inishing Kit 22. 1) Pl Paint B Fossil	5H	29.530	59.06
INSTALLATION		INSTALL CHARG	GES	1 6	5450.000	6450.00
Deposit Requirement	progres	s payment will	require a 50% be required fo one (1) week pr	r all orders \$	10,000.00.	9
PROPOSED BY	IL Co	ull	DATE <u>2</u>	-16-24	SUBTOTAL	57599.22
ACCEPTED BY			DATE	,	TOTAL	57599.22